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A= AgEe SN 119SASE
HE: ASSBASH19SSHSE) (BTN UOE/2Y)

Ehel: AMMHEI|IBIRS (AL SESINA) (SH9 &)
A= - 2A - - GRA(EA) - NRAY - BES Ofl &4 I8N sz
oSSt 15,826,422 15,783,422 43,000

S 5,100,000 5,100,000 0

= 10,726,422 10,683,422 43,000

AUAZEH}(119ST=UEL) (SSEMA A /AL 15,592,574 15,549,574 43,000

a 5,100,000 5,100,000 0

T 10,492,574 10,449,574 43,000

AL AR (LS SESNA) 1,411,000 1,391,000 20,000

ABIAMMSELSHNA 811,000 791,000 20,000

401 AlEHIZL SO0 811,000 791,000 20,000

01 Al&H| 803,000 783,000 20,000

O AEUA0INUX D20 20,000 0 20,000

AU ESSHALSH(ALSEF) 13,830,874 13,807,874 23,000

S 5,100,000 5,100,000 0

S 8,730,874 8,707,874 23,000

A02UsSsH5=E 13,821,354 13,798,354 23,000

e 5,100,000 5,100,000 0

= 8,721,354 8,698,354 23,000

201 Zer=2dd| 1,727,431 1,704,431 23,000

02 S3=4Hl 1,641,843 1,618,843 23,000

OAIE ZHI= X 857,000 834,000 23,000
OHEHLHEHHIRNS

d&d 83,000,000& 83,000 60,000 23,000




EIEE 119ar2 S 2
SR HHSSEAMY
SR F(ALSE CHO &)
A -3 - HA(ZA) - HRAY - B N 39 s
ESUEH 1,273,505 754,955 518,550
s 300,000 0 300,000
= 973,505 754,955 218,550
dEdsl(S3ENL L , 109,479 590,929 518,550
= 300,000 0 300,000
T 809,479 590,929 218,550
BB RF(AUSES 672,000 155,000 517,000
= 300,000 0 300,000
=S 372,000 155,000 217,000
ALFAISHHSF NS 595,000 78,000 517,000
s 300,000 0 300,000
== 295,000 78,000 217,000
401 Al HIZL 2 CHYI 595,000 78,000 517,000
£ 300,000 0 300,000
< 295,000 78,000 217,000
01 Al 595,000 78,000 517,000
O1oet=E+UHSeU 517,000 0 517,000
= 300,000 0 300,000
= 217,000 0 217,000
AENHHESHLSHALEEZH) 424,479 422,929 1,550
detissgss 404,959 403,409 1,550
101 2l244| 33,153 31,603 1,550
04 JI2HH22NSE 33,153 31,603 1,550
LDIHZ2Z2 X 2 33,153 31,603 1,550
OdeEus2dsd 1,550 0 1,550




